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Subtrahieren ohne Umgruppieren Name:
L 6se jede Aufgabe. Antworten
1.
1) 294 2) 5.181 3 12 4 473
-132 - 70 -1 - 250 2
3.
4.
5 8.678 6 51 7 551 8 3.918 >
-6.547 -30 - 220 - 602 6
7.
8.
9 71 100 227 11) 5.561 12) 38 J
- 50 - 3 - 3.020 - 7
- - - - 10.
11.
12.
13) 172 14) 4,233 15 47 16) 956 13
- 30 -1.022 -25 - 21
- - - - 14.
15.
16.
17)  1.788 18) 72 19) 698 20) 9.225 17
- 334 -21 - 315 -6.114
18.
19.
20.
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtrahieren ohne Umgruppieren Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 162
) 294 2) 5.181 3 12 4) 473
-132 - 70 -1 - 250 2 5111
162 5.111 11 223
3, 11
4 223
5 8.678 6 51 7 551 8 3.918 > 2131
- 6.547 - 30 - 220 - 602 . 21
2.131 21 331 3.316
7 331
8. 3316
9 71 10 227 1) 5561 12) 38 J 21
-50 - 3 -3.020 - 7 o 224
21 224 2.541 31
11, 2541
12. 31
13) 172 14)  4.233 15) 47 16) 956 13 142
- 30 -1.022 -25 - 21
142 3.211 22 935 w3211
15, 22
16. 935
17) 1.788 18 72 19) 698 200 9,225 - 1454
- 334 -21 - 315 -6.114
1.454 51 383 3.111 18, ol
19, 383
20. 3111
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtrahieren ohne Umgruppieren Name:
L 6se jede Aufgabe. Antworten
2131 21 223 31
5111 3316 21 224 1.
2541 11 162 331
2.
) 294 2 5.181 3 12 4) 473 3.
-132 - 70 -1 - 250
— — — 4,
5.
6.
7.
8.
5 8.678 6 51 7) 551 8 3.918 0,
- 6.547 - 30 - 220 - 602
- - - - 10.
11.
12.
9 71 10) 227 1) 5,561 12) 38
- 50 - 3 - 3.020 - 7
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